VIA Masd. Commuaicatcom Code /o, (YS 2—-)

17P/224/26

Set No. - | | Question Booklet No., 55“ ......
{Te be filled up by the candidate by blue/black ball-point pen)

Rol: No. ‘ i | | ( |

F\.I‘?lrlit:?rlﬂ.e digits in words) Rﬁ “'

Serial No. of OMR Answer Sheat ...

Day and Date ...............cc........... (Slgndtureoflnhﬂgllamr}

10.

11.

12.
13.
14,

INSTRUCTIONS TO CANDIDATES
Wse only biue/black bafl-point pen in the space above and on toth sides of the OMR Answer Sheet)

- Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to

efisure that it contains all the pages in correct sequende and that 1o page/question s
missing, In case of fauity  Question Booklet bring it to the notice of the
Superintendent/ Invigilators immedialely to obtain a fresh Question Booklet.

- Do nal bring any loose paper, wrilten or blank, inside the Framination 11all exeept the

Admit Card without its envelope.

- A separate Answer Shect is given. It should not be folded or mutitated. A second Answer

Sheet shall not be provided, Only the Answer Sheet 101l be evaluated.

- Write your Roll Nuntber and Serial Number of the Auswer Sheet by pen in the s[hace

provided above.

On the front page of the Answer Sheet, write by pen yowr Roll Number in the SPE
proeided at the fop, and by darkening the circles at the bottom. Alsg, wherever applicable,
write the Question Booklet Number and the Set Numbes in approprinte places.

No overwriting is allowed in the onlries of Roll No., Question Booklet No. and Set No.
(ifany) on OMR sheet and also Roll No. and OMR sheet No. on the Question Booklet.

Any changes in the aforesaid entries is to be verified by the invigilator, otherwise i| will b
taken as unfainmeans,

Each question in this Bookiet is followed by fout alternative answers. For o
fou are o record the correct option on the Answer Sheet by darkenis
circle in the corresponding row of the Answer Sheet, by ball-point pey, 4
guidelines given on the first page of the Anszwer Sheet.

For each question, r.iar_ch'! only one circle on the Answaor Sheet. If you darken
one circle or darken a Cirele parhg I_l_v, the answer will be treaied as iﬂmrrec[.
}I‘m!f* _Hmi the answer once ﬁHt’ﬂ'_ I ink cannot be changed. If you do nop Wish to atteyys
question, leave all the circles in the corresponding row blank {sigh uest S
awarded zera marks). e 4 on will pe
For rough work, wse the inner back Page of the fitle cover and (he blank

this Booklet. " PABe at the eng of
Depusit anly the OMR Answer Sheet at the end of the Test,

You are nol permitted to leave the Examination Hall until the end of the
If a candidate attempts to use amy-form pj unfajr means, he/she Stall be i

punishment as the University may df-‘[i’mﬂne and impose on him /her e liable o such

ach guestion,
1€ the appropriate
S Mentioned in

more than

Test,

(e Frévt ) 3 TR GTLTS W 8 |

Total No. of Printed Pages : 20

6L,

SEAL



FOR ROUGH WORK /Y% %18 & forv

18



MA: Mo

Comrnsner cadd om Cede Vo) @D

Sl
= 17P/224/26(Set-I)

No. of Questions : 120

Time : 2 Hours | | Full Marks : 360
Nete: (1) Attempt as many questions as you can. Each question carries 3 (Three)
marks. Omne mark will be deducted far each incorrect answer. Zero mork
will be awarded for each unattempted question.
(2} 1f more than one alternative answers seem to be approximate Lo the correci
answer, choose the closest one.
1. R. K. Karanjia was the editor of | .
(1) Indian Express (2} Blitz
(3) Hindustan Times (4} The Times of India
2. India's first Defence University was set up in :
(1) UpP (2} MP
(3) Punjab {4) Haryana
3. Who amongst the fnllc:wmg is the author of the book "Te A [lunger Free
World" ?
{1) Amartyasen {2) Marmohan Singh
(3) Sonia Candhi (4) M.5 Swaminathan
4.

The Govt. of India has launched an Inlegrated Disease Surveillance Project
{IDSP) to monitor certain diseases. Which o the following is ot COVerg
the project ?

d under

(1) Malaria . 12) Polio

(3) Pilague (4 Cancer
Swayamsidha' is a scheme launched by the Govl. of ingig (4 heip .
(1) School children (2) Health WOrkerg

(3] Women {4) Serior citizen

(h
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8. 'Pradhan Mantr: lan-[?han Yojna® has been Jaunched lor
(1} providing housing loan o poor peaple at cheaper intercst rates
{2) promoling women's Seli-Help Groups in backward arcas
{3) promoting financial inclusion m the country

(1 providing financial help o the marginalized communities

7. The Fortaleza Declaralion’, roconthy in the news, is related fo fe aliairs of
(1] ASEAN (2) BRICS (3) OFCD (4) WTQ

B, Which of the following term is assaciated with the game 'Golf 7
(1} Revoke (2) Scratch (3) Bogey (4} Volley

9. A decrease in tax o GDP ratio of a country indicates which of the following ?
AL blowing economic growth rate.
B.  Less equitable distribution of national income.
Seleat the correct answver using the code given below
(1) A oniy ©{2) Bonly
(3 Dot A and 5 (4) Neither A nor B

10. Which of the following countries has offered its help to India in its project o
developing and production of Kaveri Aircralt bngine” ?

(13 LiSA (2) France (3) Russia (4) Japan

.

5 lankic south E: ific resions in treplcal latitudes,
11. In the South Atlantic and South Eastern Pacilic reg 1 brof

. L _ 5
cyclone does not originate. Whal i= the reason

(1) Sea suriace temperalures are low

- .- - il -1._ «.,._,IL ?I"' ‘-'
(2 [nter-Tropical Convergence Zone seldom oceurs
(3 Coriols force is too weak
(4) Absercy of land in those regions

.t o “ ._'Ia_- e A fITFIJ :I'_ .
L mobile compuding evices, exeept
(allow 10 are allm .

The
1z ok computers

(1) Noteb®

(3 Digita

(2} Inlernet banking

2 (4] Persomal digiial assistant
wCATReTS

(2)
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Which one of the following pairs of States of India indicates lhe easternmuosi
and westernmost Stale 7

(1} Assam and Rajasthan

(2) Arunachal Pradesh and Rajasthan

(3] Assam and Gujarat

(4) Arunachal Pradesh and Gujarat

Which of the following Nationa! Parks is unique in being a swamp with
floating vegetation that supports a rich biodiversity ?

(1) Bhitarkanika National Park (2}’ Keibul Lamjao National Park

(3) Keoladeo Ghana National Park (4) Sultanpur Nalional Park

Consider the following pairs :

Pace of Pilgrimage Lacation

A, Srisailam : Nallamala Hills
B. Omkareshwar : Satmala Hills
C. Pushkar : Mahadeo 1ills
Which of the above is/are correctly matched ?

(1} A only {2) Band C only
(3) AandConly (4) A,Band C

What is the full form of IFRS ?

{1) International Financal Reporting Standard

12} International Financial Rating Standard

(3) Indian Functional Reporting Standard

(4) Indian Financial Rating Standar(

With relerence to Rowlatt Satvagraha', which of the Eo!lmwjng statements

is/are correct 7 ;

A, Tne Rowlatt Act was based on the recommendationg of
Committee'. .

B, In Rowlatt Satyagraha, Gandhiji tried to utilize the Home Ryl ngua

C. Demonstrations againsf the arrival of Simon Commissjon Coincided
Fowlail Sal}’ﬂgl‘ah.,&'L

Select the correct answer USING the rodp given below -

(1) Aonly (2) e‘l‘-&ndBnn[y

{3) Rand C rinly . (4) A Bang ¢ -

(3)

the 'Sedition

Wwith

w3
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18, Verification of o login name and password 15 known as:
(1) Contiguration (2] Accessibility  (3) Authenticalion (4) Logging
19, Which of the fr.l]]n:rwmg i nof a lype of broadband internet con tection ?
(1} Cable (2) DSL (3) Dial-up (4) Satellite
20. Among the foliowing, which were [requently mentioned in the news for the
otbreak of Ebola virus recently !
(1} Syria and lordan
(2] Guinea, Sierra Leone and Lilweria
(3} Philippines ana Papua New Guinea
(4) Jamaica, Flaiti and Suriram
21, Who of the tollowing was fwere economic critic/ orilics of coloniaiism in india 7
AL Dadabhai Naoroji
B. C.Subramania lver
C. RGDutd
Select the correct answer using the code given below :
{1y Aonly {2) Aand Bonly
(2 Band Conly (4) A.Band C
29 Rasik walks 20 m North. Then he turns right and walks 30 m. Then he twms
right and walks 33 m. Then he turns left and walks 15 m. Then he again wirns
lef: and walks 15 . In which direction and how many metres away is he from
his original posiion ?
(1) 15 metres Wost (2} 30 metres Woest
L’%‘} 3 metres West (4) 45 metres West

23, In india marketsin agricultural products are regulated under the :
. Inindia market ,

(1) Essential Commaodifics Act, 1955

i) Agr!t‘.u'ltum‘l Pro
. | Produce (Grading and Marking) Act, 1937

duce Market Commitiee Act cracted by Slates

. 1
“y . “rﬂ
13y Agricwt

- 0 amed Food Praducts Chrder, (973
P or, 1956 and Meat and b Tl
(5) Faod '['.Ir“L"[U{'l.fﬂ Orde i

I oi the llowing comparies of Indian origin has become the {irst Indian
o r _

4. Which ol Tht | s

2 Tapnch firanciul services ] I"flé'll] myeslogs In (_ hlﬂd ?

vo jaunch

(2) SBI Capital Markets

4) GE Countrywide

{{]]ﬂl}61‘|?'
(1) Bajaj Finance
(3] Reliance Croup

(4)
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As reported in the financial newspapers, the Federal Rescrve has made cerlain
changes/corrections in ils base federal funds rates. This acl of the Federa,
Reserve will bring an effect directly and immediately on the banks located in -
(1) Russia (2) USA (3) Japan (4) China

Which of the following stack exchanges has decided to pick up 3% stake in
Multicommodity Exchange of India ?

(1) New York Stock Exchange (2) London Stock Exchange

(3} Tokyo Stock Exchange (4) Beijing Stock Exchange

Consider the following statements :

A. The Rajya Sabha has no power either 1o reject or to amend a Money Bill

B. The Rajya Sabha cannot vote on the demands for Grants.

C. The Rajya Sabha cannot discuss the Annual Findncial Statement.

Which of the statements given above is/are correct ?

(1) Aonly (2} A and B only

(3) Band C only (4) A, Band C

Which of the following is the name of asset reconstruction company created by
variows banks in Inda ?

ﬂ} AMFI {2) ARCIL (3) SEBI (4) HCR

A child 1s looking for his father. He went 90 metres in the East before turning to
his right. He went 20 metres before turning te his right again 1o Jook for his
father at his uncie's place 300 metres from this point. His father was not there.
From here he went 100 metres to the North before meeting h

How far did the son meet his father from the starting point 7

(1) 80 metres (Z) 100 metres {(3) 140 metres (4) 260 e Bk
Servers are computers that provide resources to other f;{;mpu ters
foa:

is father in a stroet.

connected

(1} Mainframe (2} Network (3) Supercomputer (4) Cliery
Which of the following brings out the ‘Consumer Price Inde
Industrial Workers' ?

(1) The Reserve Bank of India

(2) The Department of Ecoromie Affairs

(3) The Labour Bureau ]

(4) The Department of Personne] ang Trgining

X Number fyy

(5)
PT.0
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32. ‘the area known as ‘Golan Heighls' somelimes appears in the news in the

conlex] of the ovonts related 2o -

(1 Cenlral Acia (3 Middle East
(3} South-Easi Asia (4} Central Alrica
33.  Comsider the following Pairs:
Medieeal indinn Present Region Stafe
A, Champaka . Central India
. argaera D Jammu
C. Kuluta o Malabar
Which of the above pairs is/are correctly matched 7
{iy Aand B (2) Bonly (3) AandC {4) Conly

34.  FEthiopia was earlier known as )
L Ay ssi (2) Aravallis (3) Alaska (4) Alkaria
35.  The Slale having the highest Scheduled Caste population in Indié 15
(1) MP 2) 1P @) ur (4) Bihar
36. ‘Ihe disease caused by swelling of the membrane over spinal cord and brain is:
(1) Meningitis () Tuberculosis (3} Cancer (4) Jaundice
37.  Consider the following rivers :
A, Vamsacdhara B Indravati C. Pranabita . Pennar
Which of the abuve are tributaries of Godavari ?
() A,B and C 2 B,C and D
(3 AB and U (4) '.'lj’raﬂd C only
of the followiny, regions of India has a combination of mangrove

a8, Which ont

forest, pverreen forest and deciduous forest ?
Srly -

(1) Njorth Coastal, Andhra Pradesh (2} South-West Bengal
1 j

(3 Souther

e

4 Saurashira (47 Andaman and Nicobar [slands
shluwing kingdoms associated wilh the life of the Buddha ?

iy of 1 - .
20, Whi:l,m B Gandhara (. Kosala D. Magadha
.*le.- WLkl

i {[]TT"-"-I Lm.;wl;-jr ;-_]H]ﬂg “1(’ UIJC[C gt\r'f:'ﬁ t?[?;{ﬂ"ﬁ.? ;

plect 1C (2) BandC only
(y A B y Cand D only

: : @) Cand Donly
(3) ;'"ﬁ.—lr‘ ".'I‘I.'L']I 1

(6)
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The Government of Ind:a has established NITIL Aayog to replace the

(1) Humanr Rights Comumission (2} Finance Commission

(3) Law Commission {4) Planning Commission

Personal logs or journal entries posted on the web ‘are known as :

{1) Listeners (2) Webcasls

{3) Blogs (4) Subject directories

The door of Aditya's house faces the Easl. From the back side of his house, he
walks straight 50 metres, then turns to the right and walks 50 metres agair.
Finally, he turns towards left and slops after walking 25 melres. Now, Aditva is
ir which direclion from the starting point ? .

(1 South-east (2) North-easl (3) Soulh-wesl (4} North-west
The internet is :

(1) alarge network of networks

{2) an inlernal communication system for a business

(3} communication systeim for the Govt of India

(1) All of them

Whuch of the lollowing would most likely not be a symptom of a virus 2

(1) Existing program files and icons disappear

(2} CD-ROM stops functioning

(3} Web browser opens to an unusual hume page

[4) Odd messages or images are displayed on the screen

W, Mis:

(1) India’s propased Mission to Jupiler

(2} Firstsatelhte by ISRO for a foreign customer

(3} European Umon's Mission to Space

(4} None

The girl of Assamese origin aiter whom an Astetoid has been Named |y -

(1) Veena Das (2) P.K. Gandhi
(3) Nandin Sharma (4) Inderjit Kaur

(7)
BiRG,
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47, Which one of the following is associated with the issue of control and phasnyg
vul of the tse of Orone-depleting substances ?
(1) Brelton Woods Conference {2) Montrea! Protocol
() Kyolo Protocol (4} Nagova Protocol
48.  Army Day is observed on |
(1) both January  (2) 15th January  (3) 17thJanuary (4} 20th January

49. Surya Shekhar Ganguly is a player of :

(1) Clhuess (2% Crickaot (3} Gali i1y Footbhall
50. Winch of the [ollowing publications won {he six Pulitzer Prizes in various
calegenes 7
(1) Times of hudia (2) Washington Posl
(23 New York Times (4) Hindustan Times
1. Which of the following is a ralional number ?
= L. 4 s A
{1) /3 (M = 3) 5 (1) -
52.  Thi prodect of two irrational numbers :
(1) may be a rational number (2) is always a rational number
(3} s always irrational number (4)' is never a rational number
i -
33.  The decimal represenfation ol — 15
Ly
i1y 0.296 (2} (.296 (3) 2.9 (4} 0.256
54, How many milliens is equal to one crore ?
(1 100 (2} 1 (3) 10 (4) 1,000
55, What is the rationalizing faceor of o +48}?
(1) a--b (2} ab’ (3) a+ 07 (4) o= b
56. [-23-{(-27y1 1 22 -(-a0]-?
(1) 2 (2) 22 (3 27 (4) 29
57. 2hx 10x 3% — 260 % 260 - 13 63 « 2 = ?
(1) 104,000 (2% 1,06,000 (3) 1,088,000 (4 1,002,000
; 1 i 3 y
58 j_l[__ L'.f-'—1r~|""—a|><1" :
5 g oL L3
-13 2y = 3 = @
(n £ 2 7 L 9 0
pLY
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2443 2-43

2-43 2:43

(1) 14 2y 12 (3) 13 (4) 11
b + .JE ——-E-JE =7

2V3-46 f3+42 Je-y2 T

(1} 10 2y 0 (3) 5 (4} 6

If p% of 36 = 4, then the value of p is ; '

(1) 9 (2) 144 (3) é (4) 11—;

The population of a town in 2001 was 18,00,000 and 1n 2002 was 21,00,000. Find
the increase percent :

2 R L ro2 3
1 =" — % — % 4 ="
lJl3 (2) 1:52; (3) 1?33 ur.?gﬂ

A shop reduces all its prices by 20%. What is the net price of a cyeie which
originally costs Rs, 1,750 7

{1) Rs. 1,400 {2) Rs. 1,500 (3) Rs. 1,600 (4) Rs. 1,70
Vivek gets 60 marks and fails by 20 marks in English where the maximurm
marks is 200,

Find the pass percentage :

(1) 20% (2) 40% (3) B0% (4) 8%
Find the number whose 6% is 24 -

(1} 300 (2} 400 (3) SiN 4y 600

The area of a récmnguiar hexagun inscribed in a circte of radius 5 cm s
(1) 64.95emt’ {2} 64.85cm’ (3) 51.54cm’ (4) 64.25 el

In a hot water heating system, there is a cylindrical pipe of length 28 mel,
diameter 5 cm. Find the total radiating surface in the systen -
(1) 44m’ (2) 4.5m? (3 4.6 m? @) 47,

s cdl Ml

Find the lateral or curved surface area of a closed c¥lindrica| Petrol sig
. _ ; ’ Petral storaye
tank, i.e.; 4.2 meter in diameter and 4.5 meter hlgh : >

- 2 ) 58.4 m? 7.4 m? .
(1) 594 m (2) m (3) 374 m @) %4,

Five children take parl in a lournament, Each one has to Play ey
. ery

How many games must they play ?
(1) 8 2) W (3) 24 Fijosis
(9)

other one,

BT.0.
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I a certain office, 3 of the workers are women, — of the women are marriod
E .

4 Ak b i " 3 . .
e of the married women have children. If 1 of the men are married and

5.,
. of the mareicd men have children, what part of the WOrKers are without
children ?
q i 1] siie AE

B 2] 3 — (=

LT g - 8 o

What decimal value of an hour is 1 second ?

(1) (L0002 (2) 0.00029 () 0.00030 i4) 00003

I Veena's mother is Anil's mother's daughter, how is Anil refated lo Veena 5
{1} Brother-in-low (2} Brother
(3 Maternal Uncle (4} Nephew

A couple has four children and each one of them have three children o
many members are there in the family ?

(1 17 & (2} 19 (3) 18 (4y 20

Rosey is Jagdish's sister. Meena s Jagdish's mother. Devilai is Meena's fatbwy

| alita 1= Devitai's mother, How is Rosey related Lo Lalita ?

(1} Daughter (2) Great grand daughter
(3) Crand danghier (4} Great grand mother

[3eena f5 Jeevan's sISter. Madhuri is Teevan's mother. Dilip s Madhurt's fathet
(axrri is Dilip's mother. How is Reena related to Laxmi ?

(1) Daughter (?) Grand daughier

i3y Grand mother (4) Great grand daughter

A couple has five married sons and each one of thens have four children. o
v members are there in the family ?

' {2182 (3} 27 @ 4

o gir! in the picture, Manoj caid "She is my grand mothor's ondy son's

Al
{1y

Focussing ; .
Jovw i the Wwomnan related to Manay
(2} Sister

(4) Mother

i‘.“.t*-'L'nf.-zr." i
(1) Daughter
[3) Crand ol T

{10)



78.

79.

80,

81.

B2,

83.

85,

86.

17P/224/26(Set-1)

b

If EDBERG is coded as JIGWL, then HINGIS will be coded as -

{1) MNTLNX {2) MNSLNX (3} MNSLNW () MNSMNX

In a certain code ABIDJAN is writlen as KLSNTKX, how is BANGKOK writlen
in that code ?-

(1) LKXQZQU (2) LKXQXUY (3} LKYQYXU (4) LKXQUYU

[f LOWEST is coded as TOWELS, haw is LISTEN coded ?

(1) ATTEND (2) HANGON (3) SILENT (4) HARKEN
A person managing the front office of an organisation should have :
(1) leadership (2) personality (3] palience (4) discipline

The previous days of your interview, vour friend comes and lefls vou that the
expert for the interview is a very tmugh- persen, You : ’

(1) stop preparation.

(2} are consoled that you have applied for other posts also,

{3) pray that only simple questions are asked.

(4} are not bothered, as you have prepared well.

"No risk no gain”. You :

(1) feel that risk means no gain.

(2} believe that this slogan is correct.

(3) feel itis foolish to accept unnecessary risk.

(4} feel that risk may be taken on) ¥ after judging the siluation thoroughly.

I RANGE is coded as 12345 and RANDOM as 123678, then MANGO wili
coded as :

(1) 82357 (2) 84563 (3} 82346 ) 82347

Find out the most appropriate answor -

(1) You can work hard in day time but not in the night.

(2) You do not mind working extra hours if the situation demands s,

(3) You are an early riser and go to bed early. '

(4) You feel sleepy if you have to work |ate night.
Your boss has very piercing eyes and spies on your
You will @ -

(1} ignore the uncomfortable glances as it i< his job.
{2) subtly convey it fo the boss.

(3) tell your seniors clearly that sych ¢ narvicion affes Vour
(4) just do your work. R

Perfnrmance all the timg

Erfr}rn‘rail}f{:

(11}
PTo
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87.

88.

89.
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While ravelling in vour car, cerlam persons stop you on the way asking vou o

taiee ar inqured ¢hild o the hospital. You would ... ;
i1 ! I"' 1 A1 . e . -
(0 ash them to leave vour way and then drive away.

i
{3
i<}

When vou see a blind man trying to cross the road, you

ask hem to first call the police.
immedialely take the child to hospital.
gel uut ol the car and ask some ather person to help them.
(1) ask someone o help bim {2) po and help him
L4 vt will he crosses the road [4) ignore anc move on
If you are a manager and one of your emplovees is not working properly, as d
menagzer you wodtld e
(1) fire him
(2} give the man two weeks W improve
(31 (ry lo develop the man's abililies and interest in another job
() talk to him and try Lo find out his problem
Yo have gone Lo enjoy a Diwali Mela orgaruzed by a club. Suddenly vou come
across a Jost child crying desperately. You wiould e
b nephect aned walk avay
(2) ask the child to find his parents
R ack i 1 slop Crying anc wail pariv:xily for his parents
(4} contact with the club authorities and make and announcement for i
parents
in code, 4031 15 written as DECA, what will 28195 be wrilien as
(2 BHAEI] (3) IEADBI 4y Blatib
writlen as LGOF, then PACK is written as:
{2) THGM (3) TEGM
e 1LHV, what is the code for SCENT?
(2) HXVMG (3) HEVMG

. . . 3
e folowing 15 irrational number

'i,‘,". Vi La

i GOLD s

(1) LIFEM (4) VEFM

F ROSE s coded

—i

(4) HEVNG

which O s 5
v (2) % 3) v (4 V&I
o :

(12)
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A pair of co-prime number is -

(1) 15,48 (2) 7,21 (3} 32,45 (4) 57,75
Product of lwe rational numbers ... e

(1} mav be a rational number (2) may be an irrational number
(3) isalways a rational number {4) may be a raticnal number

1fnis a nalural number, then 1 is :

(1) always a natural number

(2) always a rational number

(3) always an irrational number

{4) sometimes a natural number and sometimes an irrational number
=

v3 isa/fan:
(1) Natural number (2} Rational number
(3) Integer _ (4) lrrational number

1L — 1
222—|?i42+{5ﬁ-3+9},5+ 108 =7
E _

-

(1) 88 (2) 87 3 8 4) 31%

b fi st inn B
3+i[E—:ﬁ_ﬂ—--E{-i‘l}"['E"Lﬁ#}:?

13 68 17 13
{1 —= 2] — . = gy 2!
17 ) 13 3) 13 4) h&

Consider the tollowing statements :
A. The Executive Power of the Union of India is vested in the Prime Minjster.
B. The Prime Minister js the ex officia Chairman of the Civil Services Board”
Which of the statements given above is/are correct ?
(1) Aonly (2) Bonly (3) Both Aand B (4) Neither A g, B
Who of the following organized a March on the Tanjore coast to break (he Sujs
Law in April 1930 7
{1} V.O. Chidambaram Pillai (2) C. Rajagopatachar;
(3} K. Kamaraj (4) Annie Besant
Consider the following statements :
A. The firsl woman President of the [ndian Natitnga] ComeTace
. SRR hl’f}H .QLE'{'H.r. ]
B. The first Muslim President of the | ndian National Cep, oo
.J. - N b - ] '-ﬂ..-"JS Bl-llfjrlj"i i
yabiji. 1din

Which of the statements given aboye i }‘are correct ?
1y A onlv (2} B only : ; Al At
(1) A only (‘hMM_H (4) f\h.m”m

(13) : "Anoy p
' RTO
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104, Tndira Gandhi DPrize far Peace, Disarmament and Development for 2014 was
given to which one of the following ?
1) Bhabha Atomic Rescarch Centre
(2% Indian Institute of Science
(3} Indian Space Research Organizaiion
4y Talo Institule of Fundamental Rescarch
105. Which one of the following National Parks has a climate that varies from
l‘.'up:ull 1 HuL!lruph.n], wimnperature and arclic?
{13 Khangchendzonga Nalional Park  (2) Nandadevi National Park
(31 Neora Valley Nalional Park (4) Namdapha National Park
106. With reference to the art and archaeological hislory of India, which one amunyg
the following was made earliest ?
(1} lingaraia Temple at Boubaneswar
(2) Rock-cut Elephant at Dhauli
{3 Rock-cut Monuwments at Mahabalipuram
{4) Varaha Image at Udayagiri
107. ‘Bio-carbon Fund Initiative [or Gustainable Forest Landscapes’ 15 managed by
the
(1) Asian Development Bank
(2} International Monetary Fund
(3) United Nations Environment Programme
{4 Waorld Bank
108, Indiaisa member of which among the fellowing ?
A, Asia-Paciflic Economic Couperation.

B, Association of South-East Asian Nations.

¢ Last Asia Sumiit.
Gelect the correct answer using the code given below :
Qelect the :

2y Conly

and B oy
(A ’iB o (4) None of them
Ve A 5 EI,.. 5 . s 2 * g
N .‘.h.' ich of vhe following is the custodian of the Constitution of India ?
JikN e TR : _ . .
109. Who gentf India (2} The Prime Minister of India
£

:

PR 'T‘h_L"lf . v C = .
- 2 ) 1 h-nl " a1

{4 1, Gabhdecretarial (4) The Supreme Court of India

gy The LO%
@ {14)



110.

111,

112,

113.

114,

113.

17P/224/26(Set-1)

The Genetic Engineering Appraisal Committee is constituted under the -

(1} Food Safety and Standards Act, 2006

{2} Geographical Indications of Goods (Registration and Protection) Act, |49y
(3) Environment (Protection) Act, 1984

(4) Wildlife {Protection) Act, 1472 y

In the Mekong-Ganga Cooperation an initiative of six countries which of the
following is/are not a participant/ participants ?

A. Bangladesh B, Cambodia C. China D. Mvanmar E. Thailand

Select the correct answer using the code given below ;

() Aonly (2} B.Cand D

(31 AandC ' (4) A, BandE

[na particular region in India, the lacal people train the roots of living frees fnto
robust bridges across the streams. As the timae passes, these bridyes Lecome
stronger. These unique living root bridges' are found in:

(1} Meghalaya (2) Himachal Pradesh

(3) Jharkhard (#) Tamil Naduy

Consider the following States ;

A Arunachal Pradesh B. Himachal Pradesh €. Mizoram

tn which of the above States do Tr;}pi('al Wet Evergreen Forests' aceuy 7
(1) A only {2) BandConly (3) Aand(C only (4} A BandC

Which one of the {ollowing countries of South-West Asia does 0t apen
the Mediterranean Seg ?

oul e

(1) Syria (2} Jordan (3) Lebanon ) Israel

"To uphold and protect the Sovereignty, Unity and Integrity India”
: a4
provision made in the :

i
(1} Preamble of the Constitution

(2} Directive Principles of State p{}]_i(-?

(3) Fundamental Rights

(4] Fundamental Dutes

(15)
- PTO.
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116.

VEF:

118,

119.

12¢0. The pruljlum

With reference to Indian economy, consider the [ollowing :

A Baok rale B Open market operations . Public debl

12, Public revenue

Which of the above is/are component/components of Monetary Policy ?

(L Aonly (2) B,Cand D {3y A and B (47 A, Canc [

Consider the foliowing countres

A China B. France C. Incha D. Israel E. Pakistan

Which among the above the Nuclear Weapons States as recognized by the

Treaty on the Nen-Proliferation of Nuclear Weapons, commeoniy known as

Niehoar Noan-Proliferation Treaty (NPT} ?

(1) Aand Bonly (2} A, C, Dand Eonly

(3) B, 1 and b only (4) A,B,C,Dand E

HINT virus is sometimes mentioned in the news with reference fo which one of

the fellowimg diseases 7

i1 AIDS (2) Bird flu (31 Dengue (4} Swine flu

With reforence to bio-loilets vsed by the Indian Ratlways, consider ¢

fotlowing statements |

A. The decomposition of human waste Hl the bio-toilets in initiated by a
fungal inoculums.

B, Ammonia and waler vapour are the only end products 10 tnis
gecomposition which are released into the atmosphere.

Which of the statements given ahove s/ are correct z

(2) Bonly

(4] Meither A nor B

(1) A eniy
(3y Bofit A and B
of international liquidity is related 10 the non-availability of

{2) gold and silver

(1) goods andd services
! L)

(3) dollars nd other hard currencies (1) exportable surpius
a dl= o

(18]
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